Task 2 Writing
Question:

Rich countries are getting richer while poor countries are getting poorer.
· What is the cause of this?
· What could be done to solve this problem?
………………………………………………………………………….

The A country’s economy and issues around it have has been a controversial issue for statesmen and government leaders. Nowadays, developed nations are getting wealthy while impoverished nations are impoverishing driving backward daily. To me, this might have some important drawbacks. In order to overcome this problem, I, in this essay, am going to propose some solutions. 	Comment by Asus: It needs to be indefinite article since COUNTRY is used for the first time.	Comment by Asus: You need to use a singular verb for your subject.

There are some causes for this problem. First, the   rich countries which have been developed in different areas from economy to culture , can not tolerate systematic corruptions at their government. But, in poor countries due to the   lack of knowledge in both government body and people, systematic corruptions are very common. Second, developed countries know the importance of education and because of thathence they invest a great deal of budget on educational system. On the other hand, the undeveloped countries have usually do not invest in educational system. Furthermore, as well as, they can not make a bridge between their universities and industries. Due to this fact, they can notmay not be able to cultivate talented people or if by a chance they can,  because of the   lack of opportunities, it will reach lead to brain drain. Thirdly, rich countries have restricted laws about investment and it helps them to attract investigators to invest in their countries, which make them modern societies. But, poor countries mostly have defects in their laws which it has caused financiers flee.which may result in finance loss. 	Comment by Asus: You could use some synonyms like:
reasons	Comment by Asus: You need to use the passive form of the verb.	Comment by Asus: Pay attention to the use of comma. Here the comma was not necessary.	Comment by Asus: Can+ not is exceptionally written as CANNOT	Comment by Asus: Formally speaking, HENCE is much preferred than what you used	Comment by Asus: The use of ADVERBS is usually suggested in academic writing.	Comment by Asus: This problem is called subject-verb AGREEMENT. Most candidate have problems in this area. When you complete your essay, this must be the first priority to revise.	Comment by Asus: Refer to the grammar of RELATIVE CLAUSES.

From my perspective, there are some ways measures which can be taken by governments to change their economical situation. First of all, undeveloped country governments in undeveloped countries  should modify their laws to decrease systematic corruptions. This correction can help them both in corruption decrease, as well asand, attract investors attraction to fund at projects in their country. Second, they should invest at in cityies infrastructure like educational system and industrial zones, that which can help them to provide opportunities for their elites persons. This can help  them to prevent brain drain. 	Comment by Asus: 	Comment by Asus: You need to know that ECONOMICAL and ECONOMIC are used for different purposes.	Comment by Asus: Your sentence looked to be incomplete. So the phrase was completed as you can see	Comment by Asus: This RELATIVE PRONOUN is used to refer to the whole sentence, thus we need to bring a comma before that.

In conclusion, it is a fact that the economical variations between among countries are grownincreasing day in day out. In my opinion, corruptions and law defects, beside unwise investment decisions are the main causes of poverty in this these countries. However, this can be overcome by changing the viewpoint to in the laws and investments.	Comment by Asus: BETWEEN IS used for two, but AMONG is used for more than two.
